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R)® Prove +Hee fo“ocoiua Boglean W&'L‘%
A+AR = A+R ) AR+AC = AR+ RC+AC 3 AR +AB +AR =A+R

(@D Redmce to +e siwaplest forms
ARCD +ABCD ¢ AR+AC +ABC(4BiC), A48 (c+DE)

()@ Twaplement the followt'ug waing oudy NAND gadtes
AR+AB +AE+A‘B’} (4&+c)(45+0); (ABYAR) +AB Q+B)(ABC)

(2)® Teplemeat  AND, OR, NAND  wsing oy NOR gates
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This is He so-alled Aab-of-Tuvent

A
8 E & gcdt (ACD). Develop its Yuuth fable
g:::D——fD_ |
(3) @ Couvent Hie {bllowiug WW£M$ ‘v to alu‘(um./
ltolot, 5%, AIOE;,

(1) @ Cowvert the (ollow(ua nauwmbers (utfo bz'narg
6ol | BC€25. | 43654 | PREL

(3 Derve  Booleay exprssious fo Xeserle +L.e.op-era.1£¢'oc4 Of
Hais eiccuit. Minimize fhese expressious 53 ﬁ,%n.zém(c

Mawfpu.lﬁﬂbu aund.  Uewce SI'MPII./J He eirculd
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(5)@ Complete oll Exencises - For ~The -Studeuts (EFTS:) i
Sechiow b= pp. (4=, [4-1D, k-1, 14-2]



